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The diagram presents the customer removal process. The system receives the order from the customer and GPS finds the nearest car and finds out if it is free. System cooperates with online monitoring system and with satellites because this data.

Sometimis can happen, that satellites don´t find cars, in this case it send alert to system and try it again after one minute.

The car finds the customer and tells him the safety rules and asks him to attach them. If they do not, the car will fasten it using the automatic belt. The car takes the customer to the destination and sends a message to the system that it is at the destination. The system will send an email to the customer asking for feedback.
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This probably should not be another start event -1
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